-—>

(i)

(%oT) <“+3>

load (solve_rec);

v4d: matrix([x[i+3]], [y[i+3]1);

Yi+3

(%110) m3: matrix([1, -d[i+2]*2°-(i+2)], [ d[i+2]*2"-(i+2), 11);

(%010) <2i§ O di”)

-=>  mm: m2.mi;

-=>  mmm: m3.m2.m1;

-=>  ratsimp(matrix([-2"(-i-2)* (27 (-i-1)*d[i+1]+d[i]/271)*d [i+2]-2" (-2%i-1)*d[i]*d[i+1]+1
-=>  factor(matrix([-2" (-i-2)* (2" (-i-1)*d[i+1]+d[i]/2"i)*d [i+2] -2~ (-2%i-1)*d [i]*d [i+1]+1,-
-=> expand (matrix([-27 (-2*%i-3)*(d[i+1]*d [i+2]+2*d [i]*d [1+2]+4*d [1]*d [i+1]-2" (2%i+3)),2" (-
-=>  radcan(matrix([-2" (-2%i-3)*d[i+1]*d[i+2]-2" (-2%i-2)*d[i]*d[i+2]-2" (-2%i-1)*d [i]*d [i+:
—>  mm;

-=>  ratsimp(matrix([1-27(-2%i-1)*d[i]*d[i+1],-2"(-i-1)*d[i+1]-d[i]/27i], [2" (-i-1)*d[i+1]-
-=> 27 (i+1) * mm;

-=>  ratsimp(matrix([27i%(1-27(-2%i-1)*d[i]*d[i+1]),27i*(-2" (-i-1)*d[i+1]-d[i]/2"1)], [2"i>
-=>  ratsimp(matrix([2"(i-1)*(1-27(-2%i-1)*d[i]*d[i+1]),27 (i-1)*(-2" (-i-1)*d[i+1]-d[i]/2":
-=>  ratsimp(matrix([2" (i+1)*(1-27(-2%i-1)*d[i]*d[i+1]),27 (i+1)* (-2~ (-i-1)*d[i+1]-d[i]/2":
-=> radcan (matrix([-(d[i]*d[i+1]-2"(2%i+1))/271,-d[i+1]-2%d[i]], [d[i+1]+2*d [i],-(d[i]*d[:
-->  factor(matrix([-(d[i]¥d[i+1]1-2"(2%i+1))/2°1,-d[i+1]-2¢d[1]], [d[i+1]+2+d[1],-(d[i]*d[
-=>  expand(matrix([-(d[i]*d[i+1]-2" (2%i+1))/2°i,-(d[i+1]+2*d[i])], [d[i+1]+2*d[i],-(d[i]*c
-=>  v4 = mmm . vi;

-—>

ratsimp(matrix([x[i+3]], [y [i+3]1)=matrix([y[i]* (-2~ (-i-2)*(1-2" (-2%i-1)*d [i]*d [i+1])>



-=> factor (matrix([x[1+3]], [y [i+3]]1)=matrix([27 (-3%i-3)*(((d[i]*y[i]-27i*x[i])*d[i+1]-2"
-=> gfactor(matrix([x[1+3]], [y[i+3]])=matrix ([2" (-3*i-3)* (d[i]*y[i]*d[i+1]*d[i+2]-2 " i*x[:
-> expand (matrix([x[i+3]], [y[i+3]])=matrix([27 (-3*i-3)*(((d[il*y[i]-2"i*x[i])=*d[i+1] —2"-1
-=> ratsimp(matrix ([x[i+31], [y [i+3]1])=matrix([2~ (-3%1i-3)*d[i]*y[i]*d[i+1]*d [1+2]-2" (-2%i-

(%13)  v4;
(%03) v4

(hit1)

vi;

(%o11) @)

(hi12) v2;
(%012) <f”i+1>
Yi+1
(%i13) v3;
(%013) (mi“)
Yi+2
(%i14) v4;
(%o14) (x”?’)
Yi+3
(%i15) ml;
(%015) <dl —3)
o 1
(%i16) m2;

(%016) ( o —27 i
91 dy 1

(%1i17) m3;

(%017) ( o —27 di
22, 1



(hi18)
(%o018)
(hi19)
(%019)
(%120
(%020)
(%i21)
(%021)

(%122)

(%022) mm = <

(%hi23)
(%023)
(%i24)
(%024)
(%i25)
(%025)
(hi26)
(%026)
(hi27)

(%027)

v2 = ml. vi;

di yi

<$i+1> _ <xz — &F >
- dizi
Yit1 yi + 7

v3= m2. v2;
Tiv2\ _ (@it — 27 N dip1 Y
Yit2 Yir1 + 277 di1 2
v4d = m3. v3;

Tipg) _ (Tiv2 — 272 i Yio
Yit3 Yiga + 2772 diyo w40

v3 = m2. ml. vi;

Tiyo\ —27 ! (yi + dalll) dH‘l - % + T
Yiy2) \ 271 («751‘ - d;?i) diy1 +yi + G5

mm = m2.ml;

1- 272i71 didit1 _2471Ad”1 — 5
27”71dr+1*’%% 147272171didﬂ4

v4 = m3.m2.m1.v1;

—i— —i— di yi i T4 —i— i Tg di yi \

<xi+3> _ —272 <2 ot (xi— Bt ) di+1+yz‘+de) diga — 2770 (y; + B diyy — BB + o

Yits 272 (‘2_i_1 (yi + %5%4) digy — Tk +$i> dipg +2771 (l“i - dig?““) dit1 +yi + dizi“’/
mmm: m3.m2.ml;

=27 (27 4 G) iy — 272 i dip + 1 =272 (1 =272 didig ) dige — 27 dip
2772 (1 =272 ddigy) digo + 27V dig + ’21* 27072 (=27 gy — ‘21*) dito — 2727 d; diy

mm: m2.ml;

1-272 i diyy =277 i — §
27 i + % 1-272 N ddiyy

m2;

1 =27
g—i-1 di—i—l 1

ml;

d;
G
o 1



(%i28) mm;

27 My + % 1-27271g, di+1>

(%129) ratsimp(matrix([1-27(-2*i-1)*d[i]*d[i+1],-27(-i-1)*d[i+1]-d[1]1/2"1i], [27(-i-1)*d[i+1]-

(%028) <1 —272 g dyy —270 N —

_9—2i-1 (dz di+1 _ 22i+1) _9—i-1 (di+1 + de)
(%029) < 2711 (dyy + 2d) 27271 (d;d;q — 22i+1)

(%i30) 27(i+1) * mm;

21 (127271 d;dyyy) 240 (=27 Ny — &)

(%030) ( 21 (271, + %) 9i+l (1 — 221 di+l>>
(%131) expand(matrix([2” (i+1)*(1-27(-2*i-1)*d[i]*d[i+1]),27 (i+1)*(-2" (-i-1)*d[i+1]-d[i]/2"i]

i+1 _ didita . _ .
(%031) (2 2 dit1 2dl>

i+1 _ did;
dig1+2d; 27— 2o



